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AAKUIN R
TRI GONOVETRIC  E- UNCTI ONS
Functlon Equlvalent
Secant SEC(X}=1/C0S(X)
Cosecant CSCIX)=1/SIN(XD
Cotangent COT{X)=1/TAN(X)

| nverse Slne
inverse Cosline

Inverse Secant

I nverse Copsecant

inverse  Cotangent
Hyperbol leSine
Hyperbolle Cosine
Hyperbo!l 1c Tangent

Hyperbol e Secant
Hyperbo! ¢ Cosecant

Hypwbo | lg Cotangent

Inverse Hyperbollc
Sine

| nverse Hyperbo!lc
Coslne

ARCSIN(X)=ATN{X/SQR{=X¥*X+1))

ARCCOS(X}==ATN{X/SQR(-X*X+1) }+1.5708

ARCSEC(X)=ATN(X/SQR{X*X=1))
+SGN(SGN{X}~11*1.5708

ARCCSC(X)=ATN(X/SQR(X*X=1))
+(SGN(X)=13*1.5708

ARCCOT (X)=ATN{X)+1.5708

SINH(X)=(EXP(X)-EXP(-X))/2
COSHIX}=(EXP(X)+EXP(=X))/2
TANH(X)=(EXP(X)=EXP (=X) }/ (EXP(X)

+EXP(-X})

SECH(X)=2/(EXP(X)}+EXP(=X))
CSCH(X)=2/{EXP(X)=EXP{=X))
COTH(X)={EXP(X)

FEXP (=X} )/ (EXPIX)=EXP(=X))

ARCS INH(X)=LOG( X4 SQRIX*X+1))

ARCCOSH(X)=LOG(X+SQR(X*X~1}}




Functlon

Equivalent

inverse Hyperbolic
Tangent

Inverse Hyperbollc
Secant

Inverse Hyperboltc
Cosecant

Inverse Hyperbo!lc
Cotangent

ARCTANH(X)=LOG((1+X) /(1=X)})/2

ARCSECH(X}=LOG{ (SQR(=X*X+1)+1)/X)

ARCCSCHOX)=LOG( (SGNIX) ¥SORIX*X+1)+1)/X)

ARCCOTHIX)=LOGU(X+1)/{X=1})/2
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